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Part |

Section A

Directions

Example:

XERX 1:

EF —
L HEBREIE 2002 5 6 H KFEIBEANEER
SLELHEM: BRI

Listening Comprehension (20 minates)

In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. Both the
conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through
the centre .

You will hear :

You will read :
A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some
work they will start at 9 o’clock in the morning and have to finish at 2 in the
afternoon. Therefore, D) “5 hours” is the correct answer. You should
choose [ D] on the Answer Sheet and mark it with a single line through the
centre.

Sample Mer [A] [B] [C] [P]

1. W: The deadline for the sociology and computer courses is the day after tomorrow.
M: But I haven’t decided which courses to take yet.
Q: What are the man and the woman talking about?

E#:

1. A) Registering for courses. B) Getting directions.

C) Buying a new computer. D) Studying sociology.

Req s euII
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ERGEM:

1. A) *A#ALFE, HENRREE XA, FARMSIZ L EERMITR, B
HAARRRAGE, & A
FERX 2.

2. M: I'm looking for an apartment with a monthly rent of around 200 dollars in this

neighbourhood. Can you give me some advice on that?
W: Well, it’s rather hard to find anything for less than 300 dollars around here.
Rents are lower in the suburbs. But you need transportation if you choose to live
there.
Q: What do we learn from the conversation?
2.
2. A) The man will probably have to find a roommate.
B) The man is unlikely to live in the suburbs.
C) The man will probably have to buy a car.
D) The man is unlikely to find exactly what he desires.
ERGHR:

2.D) FARAMER —FE AL 200 £ALELEG AR, L ABLK LA IK
F300£AH2EK, FEEFHART, RERATE, KFARKTREIEGET,
i Do
RERX 3:

3. W: Well, tonight we have Professor Brown in the studio to talk about his recent

book, Fashion Images. Good evening, Professor.
M: Good evening, and thank you for inviting me here this evening.
Q: What is the woman doing?

E/ 3,
3. A) Painting a picture. B) Hosting a program.
C) Designing a studio. D) Taking a photograph.
ERG5HR:

3. B) X ABABRFAAARBEAFBE, Seidid, Bl L IHALL
%, i& Bo
REIRX 4:
4. M: Have you run up against any problems in getting your passport renewed?
W: I haven’t started the plan yet.
Q: What do we know from the conversation?
E/@ 4,
4. A) The woman doesn’t think it a problem to get her passport renewed.
B) The woman has difficulty renewing her passport.
C) The woman hasn’t renewed her passport yet.

D) The woman'’s passport is still valid.
.2



BRE5EmR:
4. C) FAR: AV BENHARRAEE ., *ARLEEIR, & C,
RERXS.
5. M: I must point out the trials of new medicine are expensive and you can never
guarantee success.

W: But there is a very good chance in this case. I do hope you'll go ahead in view of
the potential benefit to mankind.

Q: What are the two speakers talking about?

@5
5. A) A prediction of the future of mankind.

B) A new drug that may benefit mankind.

C) An opportunity for a good job.

D) An unsuccessful experiment.

ERGIHR:

5.B) FARREH A KK, EREBIERD, TARATEHARS, AT HALHE
A, ERGEE, it B,
RERX6:

6. W: What’s the difference between a lesson and a lecture?

M: Well, they’re both ways of imparting knowledge. But the main difference is
that you participate in a lesson, whereas you just listen to a lecture. A lecture is
generally given to a much larger group.

Q: What does the man mean?

Z&:6:
6. A) A lesson requires students’ active involvement.

B) Students usually take an active part in a lecture.

C) More knowledge is covered in a lecture.

D) There is a larger group of people interested in lessons.

BERGER:

6. A) *AF LRFHAEGRA, FAXLLERHNAET LR ARE, AR
RABHT, MBAHIILER S, & AL
RERX7:

7. W: It’s awfully dark for 4 o’clock. Do you think it’s going to rain?

M:You'd better do something about that watch of yours. It must have stopped
hours ago. Mine says 7.

Q: What conclusion can we draw from this conversation?

B 7.
7. A) Neither of their watches keeps good time.

B) The woman’s watch stopped 3 hours ago.

C) The man’s watch goes too fast.

D) IUs too dark for the woman to read her watch.

“ 3.
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ERGVER:
7.B) kARRARRET®, 4 LELXAE, FARGHARET, AETE, &
Bo
K RX 8:;
8. M: You're looking a little overwhelmed.
W: Exactly. You know, I've got a million things to do, and ail of them have to be
finished within 3 hours.
Q: What does the woman mean?
8.
8. A) She’s proud of being able to do many things at the same time.
B) She is sure to finish all the things in a few hours.
C) She dreams of becoming a millionaire someday.
D) She’s been kept extremely busy.
BERGER:
8. D) BABMA LEREL, LAHRAAKNYELZE I PHRER, &D,
FERX9:
9. M: Ah... ah! Looks like I'm going to be a little late for class. I hope Professor
Clock doesn’t start on time today.
W: Are you kidding? You can set your watch by the time he starts his class.
Q: What can be inferred about Professor Clock?
EH 9.
9. A) He wants his students to be on time for class.
B) He doesn’t allow his students to tell jokes in class.
C) He is always punctual for his class.
D) He rarely notices which students are late.
HERGER:
9. C) BAMSXERE], H%Z Clock #BRER LR, XARMEFRLEL, #
AL, EFRARAEFAEL, & C,
RERX10;
10. M: I'm both excited and nervous about the job interview this afternoon.
W: Take it easy. Just wear tidy and clean clothes and respond truthfully to
inquiries. Remember, honesty is the best policy.
Q: What do we learn about the man?
Z#10.
10. A) He is nervous about the exam.
B) He is looking for a job.
C) He doesn’t dare to tell lies.
D) He doesn’t know how to answer the questions.
ERGVER:
10. B) BABAATFRIR&GK, RAMKS, Bk, LAkih, AE2FHFTH
c 4 -



Bk, wEREFT, & B,

Section B

Directions: In this section , you will hear 3 short passages. At the end of each passage,
aou will hear some questions. Both the passage and the questions will be spoken
only once. After you hear a question , you must choose the best answer from the
Jfour choices marked A), B), C) and D). Then mark the crresponding letter

on the Answer Sheet with a single line through the centre.

EERX 11~14;
Passage One

Jane Brown’s been married for 12 years. She has 3 children and lives in the suburb
outside Columbus, Ohio. When her youngest child reached school age, Jane decided to go
back to work. She thought that she should contribute to the household finances. Her salary
could make the difference between the financial struggle and a secure financial situation for
her family. Jane also felt bored and frustrated in her role as a homemaker and wanted to be
more involved in life outside her home.

Jane was worried about her children’s adjustment to this new situation. But she
arranges for them to go stay with a woman nearby after school each afternoon. They seem w0
be happy with the arrangement.

The problem seems to be between Jane and her husband, Bill. When Jane was at home
all day, she was able to clean the house, go grocery shopping, wash the clothes, take care of
children and cook two or three meals each day. She was very busy, of course. But she
succeeded in getting everything done. Now these same things need to be done. But Jane has
only evenings and early momings to do them. Both Jane and Bill are tired when they arrive
home at 6 p.m.. Bill's accustomed to sitting down and reading the paper or watching TV
until dinner is ready. This is exactly what Jane feels like doing. But someone has to fix
dinner. And Bill expects that to be Jane. Jane’s becoming very angry at Bill’s attitude. She
feels that they should share the household jobs. But Bill feels that everything should be the

same as it was before Jane went back to work.

Questions 11 to 14 are based on the passage you have just heard.
11. Why did Jane want to go back to work?
12. How did Jane spend her days before she went back to work?
13. What problem arose when Jane went back to work?
14. What does the story try to tell us?
Z& 11~14;
11. A) She was bored with her idle life at home.
B) She was offered a good job by her neighbour.
.5 .
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C) She wanted to help with the family’s finances.
D) Her family would like to see her more involved in social life.
12. A) Doing housework.
B) Looking after her neighbour’s children.
C) Reading papers and watching TV.
D) Taking good care of her husband.
13. A) Jane got angry at Bill’s idle life.
B) Rill failed to adapt to the new situation.
C) Bill blamed Jane for neglecting the family.
D) The children were not taken good care of.
14. A) Neighbours should help each other.
B) Women should have their own careers.
C) Man and wife should share household duties.
D) Parents should take good care of their children.
BERGWHR:
11. C) HREFFRLF 1 BF 48 RBALIZHE, & C
12. A) REXFRLAIEFL 24 AT ES. & A,
13. B) AEEFFTRLE 3 BRBE =4 Bill kA Jane B AT —HF X5,
Jane R R B, & B,
14. C) REBEALEKEF 24 BARSTLES. £ C,
EEREX 15~17:

Passage Two

The Decade for Natural Disaster Reduction is a program designed to reduce the impact
of natural disasters throughout the world. With support from United Nations, countries will
be encouraged to share information about disaster reduction, for instance, information about
how to plan for and cope with hurricanes, earthquakes and other natural disasters. One of
the most important things the program plans to do is to remind us of what we can do to
protect ourselves. For example, we can pack a suitcase with flashlights, a radio, food,
drinking water and some tools. This safety kit may help us survive a disaster until help
arrives. Besides, the program will encourage governments to establish building standards,
emergency response plans and training programs. These measures can help to limit the
destruction by natural disasters. The comparatively mild effects of the northern California
earthquake in 1989, a good evidence that we do have the technology to prevent vast
destruction. The recent disasters, on the other hand, prove that people will suffer if we
don’t use that technology. When a highway collapsed in northern California, people were
killed in their cars. The highway was not built according to today’s strict standards to resist
earthquakes. Individuals and governments have to be far-sighted. We should take extra time
and spend extra money to build disaster safety into our lives. Although such a program can't

6.



hold back the winds or stop earthquakes, it can save people’s lives and homes.

Questions 15 te 17 are based on the passage you have just heard.
15. What is the purpose of the program mentioned in this passage?
16. What can we learn from the northern California earthquake in 19897
17. Why did the highway in northern California collapse?
E/E 15~17:
15. A) To predict natural disasters that can cause vast destruction.
B) To limit the destruction that natural disasters may cause.
C) To gain financial support from the United Nations.
D) To propose measures to hold back natural disasters.
16. A) There is still a long way to go before man can control natural disasters.
B) International cooperation can minimize the destructive force of natural disasters.
C) Technology can help reduce the damage natural disasters may cause.
D) Scientists can successfully predict earthquakes.
17. A) There were fatal mistakes in its design.
B) The builder didn’t observe the building codes of the time.
C) The traffic load went beyond its capacity.
D) It was built according to less strict earthquake-resistance standards.
BERGHR:
15. B) RBEFFRLFA 14 ZRBRARBBER LA ARARES YR, & B,
16. C) ARBEIKFE 7 6 1989 F a5 Kb ERAB AR R HE, & C,
17. D) AREBBIKF 44 : ZABKRBEREAFEZE, & D,
EERX 18~20;

Passage Three

Living at the foot of one of the world’s most active volcanoes might not appeal to you at
all. But believe it or not, the area surrounding Mount Etna in Italy is packed with people.
In fact, it is the most densely-populated region on the whole island of Sicily. The reason is
that rich volcanic soil makes the land fantastic for farming. By growing and selling a variety
of crops, local people earn a good living. For them, the economic benefit they reap surpasses
the risk of dying or losing property in one of the volcano’s frequent eruptions.

People everywhere make decisions about risky situations this way, that is, by
comparing the risks and the benefits. According to the experts, the size of the risk depends
on both its probability and seriousness. Let’s take Mount Etna for example. It does erupt
frequently. But those eruptions are usually minor. So the overall risk for people living nearby
is relatively small. But suppose Mount Etna erupted every day or imagine that each eruption
there killed thousands of people. If that were the case, the risk would be much larger.
Indeed, the risk would be too large for many people to live with. And they would have to

.7 .
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move away.

Questions 18 to 20 are based on the passage you have just heard.
18. How do people make decisions about risky situations?
19. What do we know about Mount Etna from the passage?
20. What will people living in Mount Etna do in the face of its eruptions?
2/ 18~20:
18. A) By judging to what extent they can eliminate the risks.
B) By estimating the possible loss of lives and property.
C) By estimating the frequency of volcanic eruptions.
D) By judging the possible risks against the likely benefits.
19. A) One of Etna’s recent eruptions made many people move away.
B) Etna’s frequent eruptions have ruined most of the local farmland.
C) Etna’s eruptions are frequent but usually mild.
D) There are signs that Etna will erupt again in the near future.
20. A) They will remain where they are.
B) They will leave this area for ever.
C) They will turn to experts for advice.
D) They will seek shelter in nearby regions.
BERGER:
18. D) HEFXFAXF2HF 18 AMLKAKERIERZ, & D,
19. C) HBH2HE S & AR, £ C,
20. A) R\BALRE— 4 : AMEBREHERREARGASEK T AR, ek
A, BABERARL, BATRAMR D Al A,

E - T
SEEFBEB 2002 4 6 H RFRIBAEFA
SEEL . B E RS RSB

Part I Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or
unfinished statements. For each of them there are four choices marked A ),
B), C) and D). You should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single [ine through the centre.



Passage One

Questions 21 to 25 are based on the following passage.

When global warming finally came, it struck with a vengeance (7F FH#h). In
some regions, temperatures rose several degrees in less than a century. Sea levels shot up
nearly 400 feet, flooding coastal settlements and forcing people to migrate inland. Deserts
spread throughout the world as vegetation shifted drastically in North America, Europe and
Asia. After driving many of the animals around them to near extinction, people were forced
to abandon their old way of life for a radically new survival strategy that resulted in
widespread starvation and disease. The adaptation was farming: the global-warming crisis
that gave rise to it happened more than 10,000 years ago.

As environmentalists convene in Rio de Janeiro this week to ponder the global climate of
the future, earth scientists are in the midst of a revolution in understanding how climate has
changed in the past — and how those changes have transformed human existence.
Researchers have begun to piece together an illuminating picture of the powerful geological
and astronomical forces that have combined to change the planet’s environment from hot to
cold, wet to dry and back again over a time period stretching back hundreds of millions cf
years.

Most important, scientists are beginning to realize that the climatic changes have had a
major impact on the evolution of the human species. New research now suggests that climate
shifts have played a key role in nearly every significant turning point in human evolution:
from the dawn of primates (R H3I#) some 65 million years ago to human ancestors
rising up to walk on two legs, from the huge expansion of the human brain to the rise of
agriculture. Indeed, the human history has not been merely touched by global climate
change, some scientists argue, it has in some instances been driven by it.

The new research has profound implications for the environmental summit in Rio.
Among other things, the findings demonstrate that dramatic climate change is nothing new
for planet Earth. The benign ('HL AHJ) global environment that has existed over the past
10,000 years — during which agriculture, writing, cities and most other features of
civilization appeared — is a mere bright spot in a much larger pattern of widely varying
climate over the ages. In fact, the pattern of climate change in the past reveals that Earth’s
climate will almost certainly go through dramatic changes in the future— even without the

influence of human activity.

21. Farming emerged as a survival strategy because man had been obliged
A) to give up his former way of life
B) to leave the coastal areas
C) to follow the ever-shifting vegetation
D) to abandon his original settlement
.9 .
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22. FEarth scientists have come to understand that climate
A) is going through a fundamental change
B) has been getting warmer for 10,000 years
C) will eventually change from hot to cold
D) has gone through periodical changes
23. Scientists believe that human evolution
A) has seldom been accompanied by climatic changes
B) has exerted little influence on climatic changes
C) has largely been effected by climatic changes
D) has had a major impact on climatic changes
24. Evidence of past climatic changes indicates that
A) human activities have accelerated changes of Earth’s environment
B) Earth’s environment will remain mild despite human interference
C) Earth’s climate is bound to change significantly in the future
D) Earth’s climate is unlikely to undergo substantial changes in the future
25. The message the author wishes to convey in the passage is that
A) human civilization remains glorious though it is affected by climatic changes
B) mankind is virtually helpless in the face of the dramatic changes of climate
C) man has to limit his activities to slow down the global warming process
D) human civilization will continue to develop in spite of the changes of nature
XABEX

HERERELRIEN, EURPFIEHN TN 4. EREHX, EARE it
gt N, REEFTILE. BV E LA T 400 ER, BRIEEFE, HEAIE
WRETR . MHEPEICE. . WBRIERLE, Wil ket R, i RhEH
il K422 )G, AMIBEEEGE IR EE R, RZ R R RM A7 R,
JET)ZAIER SRR . @A ERR . RY—TFER, 2FARSE
Pl RN,

UL FAERARN F BT AR RRUEN, BB EX AR £
AR A BOX S AL A A i it b TR R IT . PREREDHEL S A
JAER— MR AR, RXAKEIEH, HhRIMFhHER, hiBgE T8
B2, X—HrBEEEEE TEZE

WEENRAEFRERHNRB R A # A E K, FarRRy
A EAALHNLF BN EREN A LHETEXEERIER: M 6500 J4EH]
KR 1 B s BB A S DURR 5 7 477, M3 K BIAOL ™4, FHER
HRPICHE: ABTERITANUUZ2RIEEME W, EREELTREHIEZL
FraR s Y o

X R BARN AR S ESUERMEE, EEZFEY, RRIER
T AR BT U EOR A R E, o - RPN EARNBRRE (L
gl . SCF . SRATAIHE A SO RHIE tH B BRI R TE A A KR R SR AR L Y
B P—As. FL b, s R BN T IR KBRS E S
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